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O “#Heya
B 5o

B R k% 4&+MLE

B RAI=REGAR
[0 Logistice y2

B 24P A0 TLEE &
O % % Softmaxe ya

B aizsik
O # K2

B #ETHRAE

B & kgt

B atE

BB AR LS S 3/80 mmsf#ﬂﬁ'

ChinaHadoop.cn



A 9 o)

=k e, K=

prlnt "EiEHriE: \n", prlce

= 1lee #
y = price[n:]
= len(y) # R

prlnt "R A \n”, Y
X = np.zeros((m, n+l))
for i in range(m):
x[1] = np.hstack((price[i:i+n], 1))
print "HZEE: \n", x
theta = np.linalg.lstsq(x, y)[@] # thetay
print theta
show(theta, x, y)

X = price[-n:]
y = np.hstack((price[-n:], np.zeros(pn)))
for i in range(pn):
y[n+i] = np.dot(theta, np.hstack((y[i:n+i], 1)))
show_predict(y, pn)

i L3 gataE]
price = np. loadtxt( sh 669899 txt‘ delimiter="\t", skiprows=2, usecols=(4,))

22

— Actual Value
—— Predicted value

20+

T T
20| — Actual Value
e e Actual Value
—— Predicted value

19} .

o ",I‘

BN ' W "1 Sy

17k

840 860 880 900 920 980
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price (in $1000)

NGy
X[t'
L1
I'T1

rmglng pm T T T T T T T
el . - - - - : - ; ool |
T00 w
soo} I . §
= X "
S00 1 ® &
= * §
400 "
K £ % o i
300 F w M w ; w" "
N &" T w = H:
200 x M
Aoy
100}
0 aF .
L L L L L L L L 500 mlnn 15|m zolnn 2slm m aslm mlw 45In|:r 5000
500 1000 1500 2000 25£“E"_EII feagtm 3500 4000 4500 aquars feot
R N iy F;._-,
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y/\/”\EE/J"E /7,
"S> ENIRNZ
— ) /_a_
AAaNLE
Living area (feet?) | #bedrooms | Price (1000$s)
2104 3 400
1600 3 330
2400 3 369
1416 2 232
3000 4 540

h,(X)= 6, + 6,x, +6,X,

h,(x)= ané’ixi =0"x
=0
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AIRAK NSRS T iR /N 3k

—
)‘El

v = g7 x0) 4 g0

the € are distributed IID (independently and identically distributed)

according to a Gaussian distribution (also called a Normal distribution)

with mean zero and some variance o 2

2 Z2e0(I<i<m) R 42 2 B 2 64, B
#H0, ZEA Y wihc’Hg 3 oo
B ZE: ok ez

n]
=2

N
S g
syl
Hir
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LREMP, BIMANAETRAEHR S H
Ik 2.3 o AR s, 4t 4E T ALARAA IR
Ao

B A THLE: XTAFPGOHRELELF

B g2 F3ARFREG. BB EG A

B i g AHARSIAENET T GA, A LEHA
RRMEE, M EE LI HA Rt K5 HAEA
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o 1 @) _ T (i))2
p1e%:0) = o exp (- )

202
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Hr gy X8R S &/ 3

ol

0(0) = logL(0)
1 (y') — E?TJ:(“)E
. exp 52

= lmgH
1M 4,(1) 9’1’_..‘(.;'} 2
_ Zk’g exp (y ik )
207

p— V2o
1 1 1, g
= mlog—=——--"-3 ?zlﬁ(“y” — 67219
| — . .
_ (1)) _ 4, (1))2
16) = 5 3 (ale®) = 1)

S g
g4l
Hir
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R B TE

PR, hABBETER LA TAG.

B bz —NAHE 54T & i9[150cm,220cm],
ERBIEIFRSBEFRARSG, 2BEIAA
WEREZH N LERETXNRE A AL, M
BOE—~NER: BRI EREHHGET—Z
Z =& Ao

B ATt A “Bbghdit” .
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fFRix B9 faj 1%

B8 P R A R, fik B M TF A

B 4o, BAABETAET, (2424 A48 £ 42 A
(Bag Of Words), ‘A#— % X5 6948 & 4% 2 69—
— S HGF LR XA KR T H
&, P BRG]k IR A B T,

B {2 & 4] 408 X NMEE R4 G ~ DN~
HARA ERT, MT—MNEABATHRAE “ 2
*15" ) i#é‘:éﬁiﬂif#ﬁﬁﬁﬁiio

B SINAE TR A “HBRGGHr”

m”lgt—}l]:n:
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i Ay & BL1E

AENGUGBARATHR R OLE R, F—

P AAGAR A,z A T X 2o

B 4o, MBI APHARL e, Bt £
M ot o £ (4o 4548 98 44 69 £] 7).,

B R 01483 Bpigde Al H 8 & E 5 6424,
fevt ri#Ehhiah2xPRELAG,

B NG Tk 2 A B8l .
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ORY AT VAV K AR 42

HMANN % 4 A 48 a8 46 I X
B Xeg&— 1721 8 —~NHA, EMAH A (measurements)
B Xeyg—5st g Ag— N A, FN(regressors)

O aAHshes—kFHA, £41
A 4% & % J(@):%i(he(x“))— yO ¥ :%(Xe—y)T(XQ—y)

i=1

(g . VIOV 00-y) (x0-y)|-v, X" -y Nxo-y)]
# & 2 2

:Ve(%(HTXTXH—GTXTy—yTXWyTy)j

:%(2xTx9—xTy—(yTx)T): XTXO—XTy—REE g
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= /N B X THSH &M

B 6 AT X 1
0=(X"X)"XTy
ZXTXR T i $,B5 ok 1 414, # Aotk 2
0=(X"X+1)"XTy

THART Fkatugd e
X0=y=X"X0=X"y
= 0=(X"X)'XTy
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MAMLBN G

XIXfrz: s#FEE56G%ERGEU
U™ X Xu=(Xu) Xu—22 5v"v>0
st FiEE G EHEI0, X'X+AE =,
uTo(XTX+M)-u:uTXTXu+/1uTu
A0 suTXTXu+AuTu>0
IEX X+ T, FaEmaAX—2HE

Lo g=(X"X+41) Xy
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LA E I E

>|.

%ﬁ@ﬁ@ﬂﬁ&ﬁﬁ:J@
% 8 47 & 2 G do F 5 Ao 4] K

m n

10)=22 (0, (<)-y0) +230;

i=1 j=1
AR O A A OB 5 o0 o
B Ridge: Hoerl, Kennard,1970
LASSO: Tibshirani, 1996

B | east Absolute Shrinkage and Selection Operator
B LARSH it # #=Lasso+t ¥, Barsley Efron, 2004

[1 Least Angle Regression

N— |
o |
N |~
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A>0
ENIn 5pp Ed il E {pe[O,ll

W 1 2
oM 3(6)=5 3000, x7)-30) + 230

i=1 j=1

L1-norm: . m | 2 N
10)=32b,6)-y") #2270,

Elastic Net:

1(6)- %i(hé(xm)‘ y(i))z “{P'Zn:‘@jh(l—p)'i@fj
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L1-norm3A{a] ALTR 46 ?

Bl 4% & £ : J(é):%i(hé(x(i))_ y(i)) +Azn:‘0j‘
j=1

=1

9w f(x;a):x+élog(1+exp(—ax)), x>0

BAL |~ F(xia)+ (- xa) == log(L+ e (- ax)+ 1+ exp(ax))

1 1
# B V‘X‘z1+exp(—ozx)_1+exp(ozx)
=B Y~ 20 exp (axx)
L+ exp(ox))

EHERF, s TF—MEAAL, 4R a=10
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Moore-Penrose ~ X155 %5 P& ({/15)

ZAA T AL, M LT AA=bG B

#Hx=(AAIA b, AFiE@e h L& L,

T 34 2 L A" =(A"A)TA

ZAATEF B, A"=(ATA)AT Bp A A
(ATAJ AT = AT(AT )T AT = A

5A% % (k7 H) A, HAHAHAG S Lk

(44 i)

B 4 F 4k 4HSVD
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SVDITESEMER T X if

AFmXnegsBA, £ @aSVDLrBE A .
A=U-X-V'

M, AgFLiEH: AT =V.3L.UT

B Tk, ZARANXNGTE®, o A-A =1

B OEAARTEEEm, o AT =(AT-AJTA
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R TR B K 20, S0 )]

£ 46 ALO( A A 42 46 4L)
LEREBE T LR, Ri#E€G04£1(0)E
0J(6)

00
oo 2g5%, 5K

0=0-a-

Gradient Descent

J(0) ‘_'
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=R TEEX

________________________________________________________________

j

gradient descent. Note that, while gradient descent can be susceptible
to local minima in general, the optimization problem we have posed here
for linear regression has only one global, and no other local, optima; thus
gradient descent always converges (assuming the learning rate a is not too
large) to the global minimum. Indeed, J is a|convex|quadratic function.
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FEHLERE T PEEDA

_______________________________________________

This algorithm is called stochastic gradient descent (also incremental
gradient descent). Whereas batch gradient descent has to scan through
the entire training set before taking a single step—a costly operation if m is
large—stochastic gradient descent can start making progress right away, and
continues to make progress with each example it looks at. Often, stochastic
eradient descent gets 6 “close” to the minimum much faster than batch gra-
dient descent. (Note however that it may never “converge” to the minimum,
and the parameters 6 will keep oscillating around the minimum of .J(#); but
in practice most of the values near the minimum will be reasonably good
approximations to the true minimum.?) For these reasons, particularly when
the training set is large, stochastic gradient descent is often preferred over ?Ea?'.m,!]??
batch gradient descent.




g : mini-batch

b FAREFIH —~NHEApEARMBE, @R
ZEFANMMAGFHIRERA E T, MAE
mini-batch# & T B 4 i .

Repeat until convergence { Loop {

| 1+ fori=1to m, { .

: o m ' ) (i)i I i i 'fli

i Qj = 93' + Zi:l (y(z) — hg(x(z))) T;n 0;:=0;+a (y() — ha(f}?( ))) :rg ):

a N

S S
BEAMFT R AT B i 31/80 m jChI'inaHE a%p.i!



odef calcCoefficient(data, listA, listW, listlLostFunction):

N = len(data[e]) # #£=

- len(datals
o] J3Code el e wEihy,

g = [@ for 1 in range(N) ]

times 5]
alpha = 10@.0 # =3 FF
while times < 16600:

| |']I
el
&
oy

] =8

while j < N:
g[j] = gradient(data, w, j)
j+=1

normalize(g) # [FItHiE%E

alpha = calcaAlpha(w, g,falpha, data)
numberProduct(alpha, g, wNew)

print "times,alpha,fw,w,g:\t", times, alpha, fw(w, data), w, g
if isSame(w, whew):
break
assign2(w, wNew) # ZFi7fl[E
times += 1

listAa.append(alpha)
listwW.append(assign(w))
listLostFunction.append(fw(w, data))
8 return w

HEERET R AR E TS 32/80 VL& 5 PR
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# wLEE; qXFIBE

odef calgﬁlﬁﬁa(ﬁ, é; a; daEﬁS:-
cl = 8.3

ALY 4 ﬂ z now = fw(w, data)
| = 2L — ;
B . .?. - d whext = assign(w)
CO e numberProduct(a, g, whNext)

next = fw(wNext, data)

# FIEEAGTa, (EfFh(a)>e

count = 30

while next < now:
a *= 2
whext = assign(w)
numberProduct(a, g, wNext)
next = fw(wNext, data)

count -= 1
if count == @:
break
# FHEEAHFESTFa
count = 50
while next > now - cl*a*dotProduct(g, g):
a /=2
whext = assign(w)
numberProduct(a, g, wNext)
next = fw(wNext, data)
count -= 1
if count ==
break
& return a
BRSNS 33/80 &%=



Y Data

4.8

4.6

#e M [E)3, rate. Loss

1ze

Rate/Step S

e o Origihal Data § : ®

-| === Regression Curve tﬁ*ﬂ

16

Loss Value

10 ‘ | : ‘ : :
X Data 0 i ‘ . - i i i i
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\»\>‘:
~ :: <: odef calcCoefficient(data, llstA listw, listLostFunction):
';' - M = len(data) ¢ FELHS

len(datafe]) #

w = [@ for 1 in range(N)]

whNew = [@ for 1 in range(N)]
= [@ for i in range(N)]

=
Il

g times = @
alpha = 1@0.0 # =
wNext = assign(w) same = False
numberProduct(a, g, wiNext) while times < 10000:
next fwstochastlc(wNext data) i=o0
# FHEFEALa, £ while i < M:
count = 30 j=0
while next < now: while j < N:
if a < le-1@: g[il = gradientstochastic(data[i], w, Jj)
a=9.01 j +=
else: normallze(g) # JEIHEEE
a *= 2

alpha = calcAlphastochastic(w, g, alpha, data[i])
#alpha = 0.01
numberProduct(alpha, g, wiNew)

wNext = assign(w)
numberProduct(a, g, wiNext)
next = fwstochastic(wnext, data)

F:unt —; }_ print “times,i, alpha,fw,w,g:\t", times, i, alpha, fw(w, data), w, g
if count == if isSame(w, wNew):
break .

if times > 5: #7071
. same = True
= E break

count = 5@ o assign2(w, whNew) #
while next > now - cl*a®*dotProduct(g, g):

a /=2

wNext = assign(w)
numberProduct(a, g, wiNext)

next = fwStochastic(wNext, data)

# FIE

i

listA.append(alpha)
listw.append(assign(w))
listLostFunction.append(fw(w, data))

i+=1
count -=1 if same:
if count == )
break break
times += 1
& return a
d a return w

ERARTRA LS E T 35/80 &%=

ChinaHadoop.cn



3.5

2.5

WEHLEEE PESGD |

4.8 T T T I
e o Original Data o
46 —— Regression Curve %5@"%

: : 05F1

Rate/Step size

=
w
T

LOH-

0.0 .
0 80 100
Times
350

300F----

o 250f-

s}
o
o

Loss Value

50 LA

1.0

0 20 40 60 80 100
Times
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BE T

————————————————————————————————————————————————— -

SGO

times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,
times, 1,

times, 1,

times, alpha, fw, w, g:
times, alpha, fw, w, g:
times, alpha, fw, w, g
times, alpha, fw, w, g:
times, alpha, fw, w, g:
times, alpha, fw, w, g
times, alpha, fw, w, g:
times, alpha, fw, w, g:
times, alpha, fw, w, g:

LEE T ) B

-1

g
9

125 934 612994627 [2.9093051520832042, 5.531322986131802] [-0. 4624635972931103, -0.886835)
390825 14 0797532659 [1. LA4A0R4105422345, 2. 7A05TE3035270636] [0. 47723484391392567, 0. &7al
09765625 1.24904918001 [1.8510261933211117, 3.1038502321821975] [-0. L0034£452299439516, —D:
043528125 0.85339951 [1.61183312203724402, 3.01435328400339635] [0.5719292366939932, 0.3203|
0244140625 0. 742294709799 [1.6393074526331334, 3. 0544366955679614] [-D.ESQISIGEEBEIEEISS,'
01220703125 0. 714627293341 [1.8339692918269504, 3.030730950956636] [0.7783350337309733, O
L01220703125 0. 703424432171 [1.8434704519066743, 3.035339512537648] [0.3237021543469936, -0
. 008103515625 0. 699055652793 [1.647T421894226584, 3. 0268453324932114] [0.8217393520514939,:

. 048828125 0. 8935965841711 [1.8524373932625427, 3.0303235033400355] [0.8878087307481911, -0

1
alphy

alphk

alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:
alpha, fw, w, g:

L3 B NN o I I » BN o o I o o Y 3 Y 3 B o B ) |

o

159
180
191
192
193
194
195
196
197
198
199
0 5.

times, alpha, fw, w, g:
times, alpha, fw, w, g

11 1.7347253475958-16 0.

A ———

e

LG ET TRTION T SO R ETATT T MOUTH T 1 T ST LT LT TT TS

10 0.0007A2939453125 0. 673000227512 [1.8948107TA5TET2591, 3. 0080807158244

74] [0. 4549574445295l

2158906 I[l. B951578988593674, 3. IIIIJET-’:IJIIEIBBBIB-’:]I [o.

£431 -’:33'3'3'3233:'."13-’:12-’:-’:390'] £281]

=

TR OO ITOE IO TS T

Lo To eIy (U —uT8816858308341754]

[-0.5174844022485295, -0.8556926395733365]

[-0.5893990792303563, -0.807T4769519153842]

[-0. 6403664519330511, -0. T680695328103464]

[-0. 1153871010061 4581, —0.9933208012770457]

5. 2939559203421 0. 730551114754 [1./578292262575533, 3.0462859180238773] [0.5464975452139291, 0. 5374607053918915]
5. 2939559203421 0.730581114754 [1.8578292262575533, 3.0462859180238773] [0.B563783605915454, 0. T544318708453104]
5.29395592034=-21 0. 730581114754 [1.8578292262575833, 3.0482839180238773]

5. 2939559203421 0.730551114754 [1.8578292262575533, 3.0462859180238773] [0. 24725577A5429518, 0. 9589425910339319]
5.29395592034.-21 0. 730581114754 [1.8578292262575533, 3.0462359180238773]

5. 2939559203421 0. 730551114754 [1./578292262575533, 3.0462859180238773] [0. 4427516354451959, 0. 596B294779087415]
5. 2939559203421 0.730581114754 [1.8578292262575533, 3.0462859180238773] [0. 248926T0275354426, 0. 968522326359129]
5.29395592034.—21 0. 730581114754 [1.8578292262575533, 3.0462859180238773]

5. 2939559203421 0. 730551114754 [1./578292262575533, 3.0462859180238773] [0.0899234327A55517, 0.9975523613075352]
5. 2939559203421 0.730581114754 [1.8578292262575833, 3.04628891680238773] [0. 46626552838072714, 0.5546430803891538]
5.29395592034=-21 0. 730581114754 [1.8578292262575833, 3.0482839180238773]

2939559203421 0. 730581114754 kl.ESTSEEEEEESTSSSS, S.DéEESSEIBDESSTTS]I[0.05757715805139506, 0.9977 éDSDSQSEDéﬂ
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Code

def regression(data, alpha, lamda):
n = len(data[©]) - 1
theta = np.zeros(n)
for times in range(100):
for d in data:
x = d[:-1]
y = d[-1]
g = np.dot(theta, x) - vy
theta = theta - alpha * g # x + lamda * theta
print times, theta
return theta

B AT SRS TS 39/80 &5



2% % [=])3

— 7.0

25

BB AL SIS

40/80

1§ =215

ChinaHadoop.cn



2% 14 3] )3

— 14

HEERET R AR E TS 41/80 VL& 5 PR

ChinaHadoop.cn



BB AL SIS




ZIMAMEIUE
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Ridge[@)3
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E2UEM: S E DN R

ZetE))3 Ridge[E]!)q

LASSO ElasticNet

T T T 10 T I T T
: : == 1}, R?=0.883, L1 ratio=0.10

2, R®=0.990, L1 ratio=0.10

6l| == 3M, R’=0.990, L1 ratio=0.70
4y, R?=0.990, L1 ratio=1.00

4 = sk, R>=0.991, L1 ratio=0.90 """"""" """" iy

ol 6y, R®=0.991, L1 ratio=1.00 _____________ : |
. — 7Ry, R?=0.991, L1 ratio=1.00 ; ;

ol 70 |

N — _
4o f
B _

1 2 3 4 5 (<]
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—0. 09675941]

4. 21251829 -0. 148521011

0.02114434 0. 00140202]

-0. 00002132]
—0. 00000875 —0. 00000386]

—0. 00048279]
0. 00007551 —0.00010944]
0. 00044879 —0. 00002625 —0.00002132]

e “,\~.' A V4 \ \ <”,ﬁ§\~.'
=) VESPURYN=
= 4’ I 7JS T . :l---' l:::l

SMEEE: 1F, BHh. [-12.12113792  3.05477422]
£MEEIT. 28, RE29.  [-3.23812184 -3. 36390661 0. 90493645]
£¥EEIT: 3T, BECY:  [-3.90207326 -2. 61163034 0. 66422328 0. 02290431]
ZMEEIT: 4B, FE9:  [-8.20599769 4. 20778207 —2.85304163 0. 73902338 —0. 050085571
SPEEIT: 5K, FBE9: [ 2159733285 -54.12232017 38.43116219 -12. 68651476  1.98134176 -0.11572371]
setEET: 6§, REF: [ 1473304784 -37.87317493 23.67462341 -6.07037979  0.42536833 0. 06803132 -0. 00859246]
SMEEIT: TR, RBE09: [ 314. 30344774 -827.89447318 837.3320359 -463. 46543854 144, 21883916 -25. 672094689 2. 44658613
sMEEIT: 8K, BE29: [-1189.50153111 3643. 69120893 —4647. 02955114 3217. 22824043 -1325. 87388079  334. 32869997  —50. 57119257
Ridge[E)3: 1B, alpha=0.109854, #&H: [-11.21592213 2. 85121516]
Ridge[E/3: 27, alpha=0.138950, F&N: [-2.90423989 -3.49931368 0.91803171]
Ridge[ElV3: 3K, alpha=0.068665. FREA: [-3.47165245 —2.85078293 0. 60245987 0. 02314415]
Ridge[El3: 4K, alpha=0.222300. FR&A: [-2.84560266 —1.99887417 —0. 40628792 0. 33863868 —0. 02674442]
Ridge[EI3: 5Fi. alpha=1.151395, E&J9: [-1.68160373 -1.52726943 —0.8382036  0.2320258  0.03934251 -0. 00663323]
Ridge[EIH: 67, alpha=0.001000, FE&139: [ 0.353724068 —-6.00552086 —3. 75961826 5.64559118 —2. 21569695 0. 36872913 0. 02221332]
Ridge[EI3: 7Fr. alpha=0.033932, FE&H: [-2.38021238 -2.26383055 —1.47715232 0.00763115 1.12242917 -0. 52769633 0. 09199201 -0. 00560201]
Ridge[®/3: 8F7. alpha=0.138950, #E&(>5: [-2.19299093 -1.91896884 —1. 21608489 —0.19314178 0.49300277 0.05452898 —0. 09690455
LASSO: 1FfT, alpha=0.222300, RE(A: [-10.41336797  2.66199326]
LASSO: 2Fi, alpha=0.001000, FRE(A: [-3.29932625 -3.31989869 0.89878903]
LASS0: 3BT, alpha=0.013257, R&A: [-4.83524033 -1. 48721929 0.29726322 0. 05804667]
LASS0: 4B, alpha=0.002560, FR&A: [-5.08513199 -1.41147772 0.3380565  0.0440427 0. 00099807]
LASSO: 3Fi, alpha=0.042919, F&J9: [-4.11853758 -1.8643949 0.2618319  0.07954732 0.00257481 —0. 00069093]
LASSO: 68, alpha=0.001000, F#rj9: [-4.33546398 -1.70335188 0.29896515 0.03237738 0.00489432 0.00007351 —0. 00010944]
LASSO: 7Hi, alpha=0.001000, F#rj9: [-4.51456835 -1.58477275 0.23483228 0.04900369 0.00593868 0.00044879 —0. 00002625
LASSO: 8Fi, alpha=0.001000, F#Hrj9: [-4.62623251 -1.37717809 0.17183834 0.04307765 0.00629505 0.00069171 0. 0000355
ElasticNet: 1F7. alpha=0.021210, 11_ratio=0.100000, FE#(H: [-10.74762959 2. 74580662]
ElasticNet: 2. alpha=0.013257, 11_ratio=0.100000. FZ(M: [-2.95090269 -3. 48472703 0.91705013]
ElastieNet: 3Ft. alpha=0.0132537. 11_ratio=1.000000. #FZ1/. [-4.83524033 -1.48721929 0.29726322 0.03804667]
ElasticNet: 4Fft, alpha=0.010481, 11_ratio=0.950000. #&{7: [-4.8799192 -1.5317438 0.3452403 0.04825371 0.00049763]
ElasticNet: 3. alpha=0.004095, 11_ratio=0.100000, #2#[7A: [-4.07916291 -2. 18606287 0.44650232 0.05102669 0. 00239164
ElasticNet: 6. alpha=0.001000, 11_ratio=1.000000, #2Z{A: [-4.53546398 —1.70335188 0.29896515 0.05237738 0. 00489432
ElasticNet: THT. alpha=0.001000, 11_ratio=1.000000, #ZiA: [-4.51456835 —1.58477275 0.23483228 0.04900369 0. 00593868
ElasticNet: 8. alpha=0.001000, 11_ratio=0.3500000, #&iA: [-4.53761647 —1.45230301 0.18829714 0.0427561 0. 00619739

0. 00068209 0. 00003306 —0. 00000869 —0. 00000384]



R? =1- > =1 &
.. ) i TSS _\2
Coefficient of Determination 2 (yi-9)

A FMAHA (%, ) (%) Yo) s (R Vi)
g abitEA (%, 9) % 9,) K In) m
it & # A 4 & F 5 Fo TSS(Total Sum of Squares): 1SS = Z(yi -y
u HFHANTZEME Var(Y)=TSS/m m
O + % # 2 F = 4RSS(Residual Sum of Squares): RSS = Z(f/ —
M 3. RSSHp+% £ F 5 4 SSE(Sum of Squares for Error)i=1
O & R°=1-RSS/TSS
B R2# k., A H4F
B RRMKAAL Z2HRAEFAMAMAE, RATHRA R
B 2HamafeArHANE, RA0
O 9= T = LESS(Explained Sum of Squares): ggg — Z J. — 2
B TSS=ESS+RSS
O =f4fdabita L% XA A2, éﬂj, TSS > ESS + RSS
B ESSX # & Y2 F 7 42 SSR(Sum of Squares for Regression)

O 0O O
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TSS = ESS + RSS

def xss(y, y hat):
y = y.ravel()
y _hat = y_hat.ravel()
# Version 1

tss = ((y - np.average(y)) ** 2).sum()
rss = ((y_hat - y) ** 2).sum()
ess = ((y _hat - np.average(y)) *% 2).sum

r2z =1 - rss / tss

print 'RSS:', rss, '\t ESS5:', ess

print 'Tss:’, tss, 'RSS + ES55 = ', rss +
tss list.append(tss)
rss_list.append(rss)

ess list.append(ess)
ess_rss_list.append(rss + ess)

# Version

# tss = np.var(y)

# rss = np.average((y_hat - y) ** 2)
#r2 =1 - rss / tss

corr_coef = np.corrcoef(y, y hat)[e, 1]
return r2, corr_coef

XSS1E

250

200

150 1 | ®—e TSS(Total Sum of Squares) i
@—e ESS(Explained Sum of Squares)
o—e RSS(Residual Sum of Squares)
| | . | e—e ESS+RSS
100 _”.“_”.“”.“?.___.””.“_&.”_.“._“__énu.“__.”_.“?“___.””.“_?.__.“”.___inn.“__.”_._
B0 |- ]

0 5 10 15 20 25 30 35
SEIS . #&1%[EY3/Ridge/LASSO/Elastic Net
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LWR: Locally Weighted linear Regression

—————————————————————————————————————————————————————————————————————

_____________________________________________________________________
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RAERIZE

0@ —f TR GLEF (5 HE 2 H):

272
HhA®R, cEHAENGH AL BHXVE
% 0 B Ak
% 0 A% & 2
k(z1,T2) = ((1,22) + R)*
B ASVME ¥ 4 445 & 64 1 4o
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BE: HRIVIARIR ST K0 ?

(&
A
(Yes) 14= X
4}
Malignant ? ok 1. :
5| (No) 0 = Rty
Tumor Size Tumor Size
|
[ 8
/ e
-2 (tes) 14 K:
i I.h
Malignant /|
=4 | "
(No) 0 4 >
g Tumor Size
N ol L.
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LB,
B ZH4qya
s I

B Logistice Yz

Je A
B 4Hia)z
Z A

B Softmaxs ya

- [B])3-Logistic

|
(=2}
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Logistic[=]Y3 ﬁ

Logistic/sigmoid & # | J ‘
1
n, (x)=9(6" x)= ! L

1_|_e—9Tx -6 -4 =2 0 2 4
: 1
' 1 e—X g(Z): —Z
g (X):(l_l_exj :(1+e_x)2 1+e
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Logistic[2])3&#{& i1

. Ply=1|2:0) = he(x)
Ply=0|x;0) = 1— hy(x)

p(y | 2:0) = (he(w))” (1 = ho(2))" ™
L(0) = p(y|X;0)

p(y® | 29 0)

—:

1

(

1—y(®)

(he(x(i)))y(i) (1 B ha(x(i)))

—:

1

(

ER R AR E TS 54/80 IR
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1(6)=1og L(6) = y" log h(x")+ (.- y")ioga— h(x")
XT VA PR BR 25

06, <\ h(x") 1-n(xV)) ae,
3 Y 1oy Y aglonx)
~Slgle™x) 1-gle"xV)) o6

m (i) (i) Ty ()
_ y . 1_y T,0)) (1 _ T (i) 00" X
S e o 9 el ) 2

BRI AR AR E TS 55/80 mmgﬁéﬂﬁ
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SHEVIER
Logisticey Yz 5~ # 5 5 5] A0 .
0; :=0; +a (y" — he(z'")) mgi)

B @ ERfedttalag g s,
B ¢ 1L 4a R 64 X!

Repeat until convergence { LEsTy |

| .+ for i=1 to m, { .

| . m ' ' (@) i i i)

=0t a) i, (Y = ho(29)) 3" 0; := 0; + & (y® — ho(x)) 2

i .

4 R o
BB AL SIS 56/80 m Jhir%a%p.iﬁ



Xt $ A A

£ By BHARE A G E b

1 # JLE . logitd %

Ply=1|z;0) = he(x)

—~ANE e LEkodds, Rz T4 L4 ¢in

Ply=0|xz;0) = 1— he(x) ()
_ h (X) 0" x
logit(p)= log—— = log—¢ log| 1t€ = 0" X
1+ )
BRI RSB TS 57/80 Lg%



Logistic[al AR5 5k BR 2] vi < 0.

o) prt-p)” y{lpp”
=1(0)=[p @ p) "]
i >I(0):iln_( L jy( L jlyi

i1=1

. loss(y;, §;)=-1(6)

S funbee )y infee!)
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Logistic o) )JRFRLL : ¥ e -1
ley 1/2 ( 1)/ Zln[p.y 1/2 | —y-—1)/2]

1 (yi+1)/2 ~(yi-1)/2
'“( J )
Z 1+ef

» loss(y;, 9,)=-1(0) vy :
= +1)In(l+e Ly —Dinf+e’ 5 i i:li
Z{ yi+Din(L+e " )=y ~Dinf )} [y‘:{l—r)p. yi/=—1f
Z[In(lJre‘ ‘) y, =1 S
=i = loss(y,, yi)=Z[In(1+ e W )]
\;[In(uefi )] y, =-1 =1
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P

$: LogisticEY3

o 4L B Ak E M B L A
4 B4R

odef logistic regression(data, alpha, lamda):
n = len(dataf[e]) - 1
w = [@ for x in range(n)]
w2 = [@ for x in range(n)]
for times in range(10000):
for d in data: as}
for 1 in range(n):
w2[i] = w[i] + alpha * (d[n] - h(w,d))*d[1i] + lamda * w[1i]

O O

5.0

4.0

for i in range(n): 35|
wli] = w2[1i] wl
print w
&) return w o e e e e e e e e e e e e = v
' iodef feature_whole(x1, x2, e): Al
d = [1]

i H .
10 15 20 25 30

1
I I
|
I for n in range(1l,e+1): :
: for i in range(n+1): |
: d.append(pow(x1, n-1i) * pow(x2, 1))!
I

o __returnd |
BB AT BT 60/80 S



1.2

X1 X2 y
0 0 0
0 1 1
1 0 1
1 1 0
-0.2 D.IU 0.2 O.I-’-l O.Iﬁ D.IB 1:0 1.2
B T 61/80 L& %P5
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B3] 188k

WBHEAEBLEOAG, AT ARAS LR
A Generalized Linear Models

ARG AEBBEEPFORMNET S, A THLA
GLM & ya 47
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I X & MREIGLM

VAR P REES>A, GRY KALEK TP
45 — 5 ; ————————

T EXDOX) DY
B %3 #-
% Bk HQHE AT

- 1
m ﬁaLoglan@yatPé@g(z)zl _
s +e
B iy ¥ k. (2) 1
I\Z)=—"=
1+e™
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Softmax[@] Y3
Ka £, ﬁ%k;%;-ééé“\(iu{yék, 4 K, = Y 5B 15O,
W& ple=kIx0)= o2 k=12, K
.ZeXp( ' ) v
m K 0 R K exp( kTX(i))
bt @y g, O TIToe=kixel =TT S onlo/ )
Xﬂ‘ﬁ»{ﬂ ?} =InL(@ iiyﬁ' (HT InZexp(@T )j
' :iy 0, X Iniexp( ! )
A A o [ E j
0J(0 |
2Oy, plo 1 x0)
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Code

def soft_max(data, K, alpha, lamda):

= len(data[@]) - 1  # FA£Z
w = np.zeros((K, n))  # ZEHE: F[EEEELNE
wNew = np.zeros((K, n)) # ISHTER(E: EfCTEPHIRE
for times in range(10€@):

for d in data:
= d[:-1] # B o &
for k in range(K): # K: EFHHE
y =8 # HIZEH L (HE)

if int(d[-1] + ©.5) == k:
y =1
p predict(w, x, k)

wNew[k] = wlk] + (alpha o g , amda * w[k])
w = wNew.copy()
return w

mmgﬁ‘-ﬂﬁ'

ChinaHadoop.cn
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Softmaxsy 13-

10|

i i i i i
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B o) @t

L@~ NRTFHOL— kB M, £INE54

mE A % K2

B %t &5 ¢mEtiil/6

BT “—Afs” BT, BEAA LEE T
2 MR “Fe2dT Gk,

A e EANETF, £ 2NREKS LN,

S B A2 71828, HiE: BB —~% N

S5 ER % K2
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i 2 RAY UL o) R

AaAayia,Lm%ﬂM(plpz...p@, AlegpkTo
] 4% & # : H(p Zp.lnp.
4 X 51+ Zp, A Zu D, = 2.71828

=1

Lagrange & # .
L(B, 4, 4,)= —ZG: p;Inp, +ﬂl(1—§6: pij+/12(2.71828—z6:i . pij
Ef{ﬁ%: =1 /'il i=1
i:_ln p—1-4-i-4,==0

—p = oA
= A, =-0.0787, A4, =0.2808
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A #h E TPt H Lagrangede 1

1R AEPiGg AR, p=e “7i=1256
¥ A4z B AT HEME

(g {2

—
mll

:N@;gf)——zip =1 ipj 2( Mi' pj
ERR TR
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0.35

UNZER Jlm
) (fa) gae(3n) ol | MW
0. (g

N hetal; thetaz - 00 T

i = np.arange(1, 7) 0.00] ! )

12 = 1 ** 2

alpha = 9.01

beta = 9.1

a = np.zeros(6)

for times in range(5000):

0.301 0.227 0.17/1 0.129 0.098 0.074

a = -np.arange(l, 7) * theta2 - thetal - 1
a = np.exp(a)
1l = np.dot(a, 1)

f2 = np.sum(a)
thetal += alpha * (fl-np.e) * f1 + beta * (f2 - 1) * f2
theta2 += alpha * (fl-np.e) * np.dot(a, i2) + beta * (f2 - 1) * f1

BB AL SIS

1§ =215
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0.8
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BEABBETE, BRTALRLSE, LTIXALAN
B2 7%, «eMiufth. PCA. LDA%,
ETHR L AA LI EZLFH, £ ASGD.
B SATFALSR
B gLk BB
Logistic/Softmaxs y2 & Lk, PR A £ N A AR Z
B >3HE. RHJE2N. PEeF. § THEH
B RLRAp%£: ¥BEL%

B *
B A TEsHuegd, TELAHAETHLER?
B Llogisticeyz ¢ A 4z &, TZ Adastf#E2
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AN E

=k e, K=

prlnt "EiEHriE: \n", prlce

= 1lee #
y = price[n:]
= len(y) # R

prlnt "R A \n”, Y
X = np.zeros((m, n+l))
for i in range(m):
x[1] = np.hstack((price[i:i+n], 1))
print "HZEE: \n", x
theta = np.linalg.lstsq(x, y)[@] # thetay
print theta
show(theta, x, y)

X = price[-n:]
y = np.hstack((price[-n:], np.zeros(pn)))
for i in range(pn):
y[n+i] = np.dot(theta, np.hstack((y[i:n+i], 1)))
show_predict(y, pn)

i L3 gataE]
price = np. loadtxt( sh 669899 txt‘ delimiter="\t", skiprows=2, usecols=(4,))

22

— Actual Value
—— Predicted value

20+

T T
20| — Actual Value
e e Actual Value
—— Predicted value

19} .

o ",I‘

BN ' W "1 Sy

17k

840 860 880 900 920 980

BB AL SIS
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|
—h

A 9 o)

— 600186

19.5

18.5

__name._ 175
# Hi &
R 6.5 R R
price Limite
. 17.0 .-
print :
n = 1 ‘S S
y = p155 ‘ lﬁ'50 40 60 80 100 120
m = 1E "] SH_600000:txt - iTHZE =le e
print 5 S BEE) (R0) SEV) )
X = npo| 600000 1 R 17 B2 AEM
. : H T bod =K e BZEE FATER
for 1 3 | | | 2016/6/1 18.3  18.35 18.14 18.21 10436700 190116112
X a5 L L ‘ , ) 2016/5/31 17.93  18.4  17.92 18.29 35631526 650177344
t ..",:,Z,E% \“i‘P v 8 10 120 2016/5/30 17.84 17.97 17.68 17.95 17538184 313324800
prin ‘ 2016/5/27 17.69  17.77 17.63 17.74 11621242 205801168
theta thd|2016/5/26 17.65 17.86 17.65 17.7 11065062 196266944
print s - ‘ 2016/5/25 17.68  17.73 17.6  17.67 13766238 243549456
2016/5/24 17.48 17.6  17.43 17.55 10725938 187905440
show(t 2016/5/23 17.5  17.68 17.44 17.55 14080659 247441296
3 2016/5/20 17.31 175  17.27 17.45 11140621 194223008
" 2016/5/19 17.44 17.49 17.33  17.35 10380826 180686336
2016/5/18 17.25 17.62 17.02  17.56 30962453 536935488
pn 2016/5/17 17.29  17.34 1716 17.25 9765153 168387280
X = pt 2016/5/16 17.23 1735  17.21  17.29 11045624 190872656
1| 2016/5/13 17.37  17.46 17.22 17.24 11013829 190929408
y = ng 2016/5/12 17.43  17.5  17.2  17.41 14668954 254410736
for i 2016/5/11 17.55 17.57 17.4  17.45 11941164 208655792
v 2 /|2016/5/10 17.38  17.56 17.38  17.48 16846648 294675488
ShOW_FBl ; ; ‘ : ‘ , ‘ E100F, 15
0 5 10 15 20 25 30 35 40
5 -II
BRSNS 76/80 VL& 5 PR
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4k 32 2
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22 3 HR

Prof. Andrew Ng. Machine Learning. Stanford
University

24, %t Tk, FAERP EE4, 2012

n]
=2

N
syl
Hir

BEXMFT AT LS ETnE 78/80



[ C' [1 wenda.chinahadoop.cn/explore/

R MS%T  ASETASAR  Dlon  AMESUME  NoSQLENER  EuERE THKS

FANEXE

O http://wenda.ChinaHadoop.c¢i™ en_ wz w0 seas O

i yarn:_f:rED‘ HESinfo. FEEHREIER , Mz BEREIE ? FEHE T AT

ESTiE

M AT R EREE = =itEREA

= FEric_liang EIS TR - 2 AT « 1 -MEIS - 6 DTl - 20

yan ¥
4ﬁ ? fnfEZELinux T EgjavaiyDK?
S TS - 1 A - 10 MEE - 47 S - 2016-05-18 12:04

linux wangxiaolei =

. - .M sqoopi@mysqlEES AHbaselRUNEES
I n a. a OO p fal <qoop fish BETIEE - 3 AZiE « 3 MES « 26 Yol - 2016-05-18 11:56
. o ,‘.ﬂ IZILREATES
. @ QF @ m % ‘? ;j = = wvisi = 7RIS - 4 ASSE « 1-MEE - 22 Ml - 2016-05-18 10:24

kafkaOffsetMonitorfTHRELIELIEETAE ?

Lo
t kafka fish EE

WAE AR F o
& - /A ﬁ markdown ATHEES S TR R AIER =
_ . ey 13 FHIES - 2016-05-18 08:40 gongfe B
Lo 17 -MaEm, 0 RERE

markdown masterwzh EET
. IJ A} % . hadoop-2.6.2-srciFRaSRiFEMNIN = EHfFlnative FalE—Frmxf | thiTE-ArmiERerSti=zs Hagrid

3, EARBRFEHNEFRNEC | BN ZIEARRE ? 2FEEITE? 55 EE, 3 REE

MEIS - 40 Al

maven @CrazyChao BE

N AT N e e& . yanglei
. bied 55 NI, 12 75
'z ) & - opentsdbZEt il 7 24 warning , STERE4 ? = g FHTTE
= 150 - 3 A = 5 MEIS - 49 R - 2016-05-17 18:53 -
e
-'f 5

opentsdb fish B 48 NEE, 0 RER

S hiveman
19 /NEJE, 1R

XXl HEHUE wayaya BIETIAE - 4 AXKE - 7 EE - 108 JlsE - 2016-05-17 18:26
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